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CR-2724

M. Com. (Third Semester) Examination,
Nov.-Dec. 2018

ACCOUNTING for MANAGERIAL DECISIONS
Paper : Fourth
Time Allowed : Three hours
Maximum Marks : 40
e . @ @ vl ¥ Y FEATAR € w7
sy @Uel & e fodr @l g

Note : Attempt question of all three sections as directed.

Distribution of marks are given with sections.
gue- A’
Section-‘A’

(aﬁﬁ‘a Wy ) 5x3=15

(Objective Type Questions)

o . i} gy & I P ISF §ER W TE W

T N FATE &1 % T 3 3% @7 §1 I
% 70 sifusan yee & 150 e #

Note : Answer all questions. One question from each

unit is c’ompu!sory. Each question carries 3

mark. Maximum word limit Jor answer is 150

words.
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-

Unit-]
1. YUHIG Q@ #1 fadwand qamy

Explain the characteristics of management accounting .

T
Or

WaYHIg dGihd H dmmd & §7?

What are the limitations of management accounting?

vrg-1n
Unit-II
2. fasdta faao favemm & Itwa =0 2

What are the objectives of financial statement analysis?

YT
Or

oI faeeol W uw diarg foau fafgu

Write a brief note on comparative statements.
g1
Unit-III
3. Frer @ wdviw B F wRada @ TR Hfm—
4

siy &t F 9% 2.00,000
e 9 @y 60,000
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W | w1 FF ' 1,80,000

ik IE1C 2 B U i A 30,000

QeferretT o w1 TE A 20,000
J'rom the following find out amount of change in working
capital : |

4

Increase in share capital 2,00,000

Profit from operation 60,000
Purchase of fixed assets 1,80,000
Payment of dividend 30,000
Repayment of long term loan 90,000

AT
Or

mmm'@‘mmwﬁiwm@qi

Explain the difference between cash flow and fund flow
statement.
FETE-TV
Unit-IV
4. ST swfy faf & srpan smfefan fafrrer sl
FTH! AVEEERAl F gy ¥ Fifewwr wifqe—
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gE | IR fafaEm s o= EIEREIG
IFg va® | (ol #)
(T #) (T H)
X 1,00,000 - 20,000 9
Y 1,20,000 30,000 6
Z 1,12,500 25,000 T

Rank the following investment proposals in order of their
profitability according to pay-back period :

Proposals | Initial outlay | Annual cash flow | Life in years
(in %) (in )
X 1,00,000 20,000 9
Y 1,20,000 30,000 6
Z 1,12,500 25,000 7
AYTT
Or
ot aofen ¥ R W yww =i
Elucidate the objectives of capital budgeting,
FHE-V
Unit-V

yfaded TUR S G99 SE X AT wr/l w wgEe

Discuss the considerable matters to be kept in mind whilc

preparing a report.
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U
Or

Iwfae a@isa o fifed Faw == 22
What are the steps involved in responsibility accounting?
ug-'a’

Section-‘B’

(3 3T W) 5x5=25
(Long Answer Type Questions)

e 7 g F I IR g s § o A
EF A HfTa1d &1 ¥l §vT 5 3 FT &1 IH
eq JfEsay = T soo v &1

Note : Aitempt all questions. One guestion from each

unit is compulsory. Each question carries 5
marvhs. MMavinmmn word limit for the answer is

NGO vwords.
o -1
Unit-1
6. T ai@isa 1 gfiuifyd wifse ) gg fadlg 9 anma
daiFEs 4 58 wor = ¢27 =eug g9y o 39
Erpuucificricnd
Define Management Accounting. How does if differ from
financial and cost accounting? Explain its utility in business

management.
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JHYFE QST T T2 TS qE@H § F8 aq

drmal 1 JuiE Fifsu

What is management accounting? Describe the functions

and limitations of management accounting,

-1

Unit-11

7. t‘e'zf?*;o%:n A4, 2017 3R 2018 H §9E €4 9
g8l & fou 3my faawo few mo %1 33 ool 1 geEnoTs
w0 ¥ g famnfas sifvm ol e i eneEsa

YT FKA hifsT—

a9 T W H @A
Y= 49—
YA TE GO 34
fam! =99

HIATTT Hg—

o e

2017
Z (000)

3,925
2.250

350

2018
T (000)

4,500
2,500

450

125 150

350 400
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The income statement of a concern are given for the
year ending on 31 March, 2017 and 2018. Re-amang®
the figures in a comparative form and study the pmﬁtabilit)'
positions of the Hind Ltd. :

2017 2018
(000)  (000)
Net Sales 3,925 4,500
?i Cost of goods sold 2250 2,500
g
g Opcrating expenses :
;%* General and administrative expences 350 360
g Selling expenses 400 450
Non operating expences :
Interest paid 125 150
Income. Tax paid 350 400

fersity farawon & faveraw @ 3 a0 awgR 2 cqw) fafis
Thlh] Td IVl &) sare wifau )
What do you understand by the analysis of financial

statement? Explain its various techniques and objects.
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Fars-1I1

Unit-1II

8. Iy warE faat fFy yER Far fea 9w ¥ 2 39 i
# fafiy= f&afydl &1 a9 SifE)

How fund flow statement is prepared? Explain various

methods of preparing it.

ear
Or

st fafrds ¥ fre fag @ gETell & AR W I

Mletferder o ey —

agra faar TR Fife— .
afad Ta a4 | =] 9| wwfeal | Ta @4 |9 ad
L4 4 4 L4
siv g 80000 | 90000 | v 38000 | 52,000
ws-gf3 @ | 10000 | 16000 [ Fa3 | 50000 | 60,000
e gem | 5000 | 7000 | wfear [ 10000 8,000
TR 2,000 O | Tk 2,70 Lo
il 2 700 SO0
- S — _—ﬂ
LIS700 | 1.40,500 1,15700 | 14050

Cs1) ad i e ue € 8,000 wiaw s v &
(4) ad ¥ G493 F UF M T 900 W A 741 | AR TR

2 1,500 4 ¥R T M T 900 F&1 T T
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From the following balance sheet and information of

Ayushi Limited prcparc a cash flow statcment :

_#
1.iabilitics Previous| Curent | Asscts | Previous Cumedt
year year year | yew
4 4 ¢ 4
e —
'
Share capital 80,000 N.000 | Building 38,000 | 52,000 \
P& AL 10.000) 16,000 | Plant S0000 | 60,000
General Kesenve <.000) 7.000 | Stk 10,000 8,000
( rediton 16,.(KX) 21,000 | Debtors 15,000 | 16,000
1,15, /00 1,440,500 1,15, 700 I 1.40 5

 Additional information :

(a) Depreciation charged on plant ¥ 8,000 during the year,

(b) During the year a part of plant sold for 900. It cost

1,500 and depreciation charged on this plant was

900.

TRE-IV

Unit-IV

0. st gre= Y 3§ wE GRASA nn) ¥ wam 1)
faam =t @ §—

e A wrafeag faao fng

yfEisE @l S
F F JYEE g §9 ¥ g -

I8 =Y

.

4

140,000

20,000
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J]nd a9 30,000

“]rd ‘qﬁ 45,&0
vt g9 65,0'[”
Vih g4 80,000

10% T FRE F wE A T@ g FPEE ey
TR SRR 2 T T 10% W TEEA qed R 99
ad 909, fgdta a¥ -826, gara o -751, =gy I¥ -683, T

Y=g 9§ -621)
M Giyan Chinnd Mohita is considering to establish a projoct

- Jhabua, Paticulors nre ns below @

<

Cost of project 1,40,000
Eamings after tax but before depreciation :

' year | 20,000

1™ year 30,000

11 year 45,000

VY year 65,000

vt year 80,000

Calculate Pay-back period taking into account interest
factor at 10% present value of one rupee at 10% are I*
year -909, II™ year -826, 1™ year 751 [V® year -683
and V% year -621.
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Sar
Or
Yl a5reA | 39 T wHEd ¥ 2 o fafrm wwEl %
qied o wq@ faftdl =1 99+
What do you mean by Capital Budgeting? Discuss the

main techniques of evaluating capital expenditure
proposals.

FhIS-V
Unit-V
10. werumia TREEE R 9 7 gREd §2 va F e
Tl & FA-E ¥ Ffaee wwE fHe o €2

What do you understand by reporting to management?

Which reports are submitted to various levels of manage-

ment?
I
et <t & T w o sl e |
T8 |
What is responsibility? Describe its advantages and

limitations.
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